RUSH BT KF B |v—F |avg TD
1|RESA il 20 351] 17.55 4
2| AR Ee N KEF 38 337] 8.87 3
3[mHEELEE  [EABE 66 318] 4.82 2
4| ERRAR  |BEXE 52| 232| 4.46 1
5| E#aic f=]mabN=al 44 1811 4.11 3
6| X ABRK 441 178] 4.05 1
UESIEE PN NMITZE 29 176] 6.07 1
8| T Eeik K Z 36] 153] 4.25 2
9|EkE 2R BEARE 26 152] 5.85 1
10| &HL1E AR b 241 122] »5.08 2
1 AF103 L L
PASS R0 p=al 2% |3 [v—F [TD INT  |Rate
1\ KRB MK EF 43 22 351 3 3] 128.80
2 BEE ABBKK 76 39 485 3 1] 115.32
] pancs; BEKXE 49 20 290 2 4] 87.67
A|zEEEES  |BRABE 63 30 266 2 41 80.86
5(HAA NI ZE 78 28 388 2 8] 65.63
e FESA il =l 39 17 251 6 2] 138.16
RECEIVE |%&&] RF [E1% T —F |avg TD
1K ABBKK 20 284( 14.20 3
2 E=MEE ABBAKK 16 166| 10.38 0
3[R il 13 225( 17.31 4
4|FEHEE N KEF 9 160| 17.78 1
5| AE f=]rabN=al 8 129| 16.13 1
6| XEE =] BHEAZ 6] 187 31.17 2
7| = BE NMITZE 6 139 23.17 1
8 BT BHEHE 6 48| 8.00 0
oiEAEE BEARE 6 30| 5.00 0
10|7TiBh & N KEF 5 127| 25.40 1
INT £ 70 KF @#% |v—F|TD
1|2+#K FE=Ea 3 72 1
2| kAR FIKZ 3 44 0
3|BFES FINKZ 2 26 0
4| RIS A1 AR FbT 2 20 0
5| K& E NI 2 2 0
ZH 1
QBY v 7 &l KF m#%  |v—F
1| RIREKR BREAHE 2 15
2|BAEE FIKZ 2 7
2|hEEF FINKZ 2 7
EZ= 1
KICK 250 KF /=
1| =B ABKK 20
2| B R FE=Eals 17
3|FBEE FINKZ 14
3|@mARKA BHEAZ 14




